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Fig.D1-Observed Annual Sonora Precip: 1906-2003

Based on station "Sonora RS" (SOR)

from http://cdec.water.ca.gov/
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Deficit,inches

Fig.D2-Observed: Two-Year Duration, Drought End-Years Labeled
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Fig.D3-Observed: Three-Year Duration, Drought End-Years Labeled
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Deficit,inches

Fig.D4-Observed:Four-Year Duration, Drought End-Years Labeled
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Deficit,inches

Fig.D5-Observed:Five-Year Duration, Drought End-Years Labeled
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Deficit,inches

Fig.D6-Observed:Six-Year Duration, Drought End-Years Labeled
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auto-correlation coefficient
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Fig.D7 - Explanatory Term: Consider Autoregression - Check Correlation

Correlation =0.198 or =-0.158 if Significant with 95% Conf.

http: fffaculty vassar . eduflowry'chd apsx html
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Fig.D8 - Explanatory Term: Consider Autoregression at specified lag (X-axis)
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Frequency

Fig.D9 - Histogram of Observed
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Fig.D10 - Nonparametric Density Function
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Fig.D11 - Cumulative Distribution Functions
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Fig.D12 - 200 Synthetic Centuries and Observed Overlay
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Synthetic: random sampling from Nonparametric Cumulative Distribution

where sampling based on random prob from 0.01 to 0.9999

Observed: black thick line overlay
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Probability Density

Fig.D13 - Nonparametric Density Function
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Fig.D14 - Cumulative Distribution Functions
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Fig.D15-Synthetic: Two-Year Duration, Drought End-Years Labeled
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Fig.D16-Synthetic: Three-Year Duration, Drought End-Years Labeled
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Fig.D17-Synthetic:Four-Year Duration, Drought End-Years Labeled
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Fig.D18-Synthetic:Five-Year Duration, Drought End-Years Labeled
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Fig.D19-Synthetic:Six-Year Duration, Drought End-Years Labeled
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